
 
 

Installation Instructions for 50612 
BB-Chevy Low-Mount Alternator Kit 
For Alternators: 555-10160, 358-2001, 358-2007 & 358-2009 
 

Description QTY 10160 2001/2007/2009 
Bracket - Alt Mount - BBC - LH/RH - Lrg 1 X X 
Bracket - Alt Mount - BBC - LH/RH - Sml 1 X X 
Bracket - Alt Mount - BBC - LH/RH - Spacer 1 X X 
Spacer - 2.000" 2 X X 
7/16"-14 x 3-3/4" Bolt 2 X X 
3/8"-16 x 3" Bolt 1 X X 
5/16"-18 x 1" Bolt 1 X X 
7/16" Lock Washer 2 X X 
7/16" Flat Washers 2 X X 
3/8" Lock Washers 1 X X 
3/8" Lock Nut 1 X X 
5/16" Flat Washers 1 X X 

 

                                         1-800-345-4545   jegs.com 

Alternator


